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this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (). You have to darken the circle as indicated below on
the correct response against each item.

Example : @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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MANAGEMENT
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  In the market-oriented system, for the allocation of resources which one of the following
is the most appropriate conveyor of information ?
(A) Finance Ministry (B) Central Bank
(C) Market Price (D) Advertisement Expenditure

2. A company supplies 20 units of a particular product per month, at a price of I 10 per unit.
If price elasticity of supply is 5, how many units would the company supply at a price of

157
(A) 50 (B) 70
(C) 40 D) 5

3. Which characteristic is not likely to be a part of perfect competition ?
{A) Absence of interdepence (B) Deadweight loss is non-existent
(C) Strong rivalry (D) Absence of advertisement

4.  Match the items given in List — I and List — II by considering which of the following are
macroeconomic issues and which are microeconomic ones :

List -1 List — 11
a.  Thelevel of government revenue i Microeconomic
b.  The rate of inflation ii.  Macroeconomic

c.  Theprice of T.V. set
d.  The amount saved last year by households

Codes :

(A i i i i
B i i i i
© i i i i
@) i i i i

5. In the recent years, world economy has witnessed the influence of unconventional
monetary policy of the UU.S.A. This policy stance is known as
(A) Bank rate (B) Taylorrule
(C) Reserve requirement (D) Quantitative easing

Paper-11 2 D-17-14
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6. Rita, a young enthusiastic manager has joined an organization as a project co-ordinator.
The project head counsels her to socialize less with non-management employees; whereas
the product head tells her to learn more about market issues. She should socialize more
with the non-management employees. Rita is confused, she is facing

(A) Inter-role conflict (B) Intra-role conflict
(C) Interdepartmental conflict (D) Hierarchical conflict

7. List — I consists of Motivation theories and List — II consists of the Motivation theorists.
You have to match them and indicate the correct match as per code :

List -1 List - 11
a.  Two-factor theory i. David McClelland
b.  ERG theory ii.  Predrick Herzberg
c.  Theory X and Theory Y iii.  Douglas McGregor
d.  Need theory iv.  Clayton Alderfer
Codes :

(A) i iv i i

B) i i il v
© i iv i il
M iv i i i

8.  The conflict over content and goals of the work is called

(A) Functional conflict (B) Process conflict
{C) Relationship conflict (D) Task conflict
9. theory of motivation ignores the inner state of the individual and concentrates

solely on what happens when he or she takes some action.
(A) Equity (B) Expectancy
(C) Goal-setting (D) Reinforcement

10. Inthe “Big Five” personality factors widely accepted personality traits are mentioned. The
trait of being dependable, organized, conforming and persevering on tasks is called

(A) Extroversion (B) Conscientiousness

(C) Agreeableness (D) Emotional stability
Paper-11 4 D-17-14
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11. Given below are four statements. Some of the statements are incorrect. You have to
choose the correct one.
(A) A satisfied employee is a motivated employee.

(B) Employees who are happy “being around™ are good contributors to the organization.

(C) Motivated employees do not need engagement.

(D) Customer loyalty has been found to be positively correlated with employee
engagement.

12. The author of the book ‘The World is Flat : A Brief History of the Twenty First Century’ is

(A) Thomas L. Friedman (B) Raghuram Rajan
(C) Michael Armstrong (D) Vineet Nayyar
13. ESOP stands for and was developed by

{A) Employee Stock Ownership Plans; Wallace Forbes
(B) Employee Stock Ownership Programs; Louis Kelso
(C) Employee Stock Ownership Plans; Louis Kelso

(DY) Employee Share Ownership Programs; Louis Kelso

14. Match items given in List — I, with those in List — 1T :
List -1 List—11
a.  Predictive analytics to help i Job Specification
anticipate the result of HR

strategy
b.  Statement of purpose, scope, ii.  ErnestJ. McCormick
duties, task and

responsibilities of job

c.  Position Analysis 1l Job Description
Questionnaire
d.  Statement of qualifications and iv. Workforce Analytics

qualities required of an

employee to be successful
Indicate the correct code :
Codes :

a b C d
(A) iv iii i i

B) i i il v
© i iv i il
@ i v i il
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15. Match the items of List — T and List — II :

a.

C.

d.

List-1

Procedural Rules

Managerial Aspects  ii.

Substantial Rules

Award

i.

iy

iii.

iv.

Indicate the correct code :

Codes :

a b C
(A)  iv ii
(B) #i iv il
© i i il
D) i i v

iii

iv

List - I1

An interim or final determination of

any industrial dispute

Terms and conditions
employment and control
transfers, promotions etc
Mechanism of  dealing

interpretation and implementation of

agreements

Assignment of work and adjustment

of workforce

16. Consider the following two statements :

Statement I
Statement II :

Select the correct code :

Bond value would decline when the market rate of interest rises.
There is a positive relationship between the value of a bond and the

interest rate .

Codes :
(A) Statement I and Statement II both are correct.

(B) Statement Iis correct, but Statement II is incorrect.
(C) Statement II is correct, but Statement I is incorrect.
(D) Statement I and Statement II both are incorrect.

17. Match the following techniques of capital budgeting given in List — I, with one of the
Characteristics given in List — IT and select the correct code :

d.
Code

(A)

(B)
(©)
(D)

Paper-11

List-1
NPV
IRR
Profitability
Index
Payback period
S:
a b C
i i il
i i v
mi o iv i
iv i il

ii.
iii.

iv.

iv

ii
iii

List - 11

Under certain circumstances its reciprocal is
a good approximation of the rate of return.

Sharcholder’s wealth maximisation

Possibility of multiple outcomes in single

calculation

Measure of projects’ relative profitability

D-17-14
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18. In the case of redeemable debentures issued at discount and to be redeemed at par,

approximate cost of debenture (before tax adjustment) will be equal to
(A) rate of interest

(B) amount of interest divided by issue price

(C) amount of interest divided by par value

value —issue price]
tenure of debenture

(par value + issug price)
2

amount of interest + [

D)

19. While granting the term loan, if lending institution puts a condition to reduce the debt-
equity ratio by issuing additional equity share-capital or preference share capital, it is

known as

(A) asset-related restrictive covenant

(B) cash flow related restrictive covenant
(C) control related restrictive covenant

(ID) liability related restrictive covenant

20. According to Lintner’s model of corporate dividend behaviour, the dividend for the year

‘t’ is dependent on :

I. earnings per share for the year t
II.  dividend per share for the year t-1
ITI.  adjustment rate

IV. target pay-out ratio

V.  market price of share

Select the correct code :

(A) I IIand III are correct.

(B) IL III IV and V are correct.

(C) L IL III and IV are correct.

(D) I 1L IV and V are correct.
Paper-11 10 D-17-14
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21. Which of the following concepts holds that consumers prefer the products which are
gasily available and are inexpensive ?

(A)
(B)
(©)
D)

22,
(A)
(C)

The product concept
The production concept
The selling concept

The marketing concept

is the added value endowed to a product or service.
Brand equity (B) Brand image
Brand loyalty (D) Brand preference

23. Match the items/persons included in List — I with the items in List — II and indicate the
correct pairing through codes given below :

List -1 List - 11

a. CCI i Consumer buying decision process
b.  Cognitive dissonance 1ii. ‘Marketing Myopia’
c.  Everett M. Rogers iii.  Diffusion of Innovation
d.  Theodore Levitt iv.  Predatory pricing
Codes :

a b C d
(A) iv i i i
(B) i iv i i
(C) i i v il
(D) iv i i i

24. The step after ‘concept testing’ in the new product development process is

{A) Business analysis
(B) Marketing strategy development
(C) Product development
(D) Test marketing
25.  When the total market expands, the usually gains the most.
({A) Market challenger
(B) Market leader
(C) Market follower
(D) Market nicher

Paper-11
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26. ‘Large output per unit of space’ is an orientation of which type of plant layout ?
{A) Product layout

(B) Process layout
(C) Fixed-Position layout
(D) Cellular layout

27. Which of the following steps is the first step in production scheduling ?
(A) Sequencing
(B) Loading
(C) Expediting
(D) Classifying

28. A defence equipment manufacturing company uses bolts at a constant rate of 10000 kg per
year. The bolt cost ¥ 80 per kg and the company estimates that it costs ¥ 400 to place an
order and the carrying cost of inventory is 10 percent per year. How frequently should
orders for bolts be placed ?

(A) 5
(B) 10
(C) 15
(D) 20

29. The number of allocated cells in the optimal solution table of a transportation problem
having m origins and n destinations is

(A) m+n-1

(B) m+mn-1 or more
(C) m+n-1orless
(D) m+n

30. The co-efficient of artificial variable in a Maximization problem of LP is

(A) M
(B) -M
(C) 0
(D) 1

Paper-11 14 D-17-14
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31. Ifp=

5% 3!

0.6 for a particular Bernouli process, the calculation ( ) (0.6)° (0.4)° indicates

the probability of happening of

(A)
(B)
(©)
(D)

5 or more successes in eight trials
3 or more successes in eight trials
Exactly 5 successes in eight trials

Exactly 3 successes in eight trials

32, Chebyshev’s theorem provides that at least 89% of the values will lie within + 3 standard
deviations from the mean for

(A)
(B)
(C)
D)

Bell-shaped distributions
Positively-skewed distributions
Negatively-skewed distributions

All distributions

33. How many degrees of freedom should be used to apply chi-square test statistic on a

contingency table, having 5 rows and 4 columns ?

(A)
(B)
(©)
(D)

34. The
(A)
(B)
(©)
(D)

20
12
7
9

and its alternative provides the ability to serve dynamic content to browsers.
Common Gateway Interface
Cryptography
General Pocket Radio Service

Cellular Digital Pocket Data

35. Which is the most suitable domain extension for an Indian NGO to do e-business ?

(A)
(B)
(©)
(D)

Paper-11
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(A) BT T2 T2THY
(B) %< o (remie)
(C) TR diehe Jeat wfag

(D) Wger Tefsieat ke SeT

35,  ORAE TASH SN, B $-faeHa e o ToTe feren sders favga 3] Suger ¢ 2
(A) .gov
(B) .com
(C) .org
(D) .us



36. At which level in the company should market-oriented strategic planning begin 7

{A) Corporate level

(B) SBU level

(C) Marketing Department’s level
(DY) Brand Manager’s level

37.  Which of the following statements is not true ?

(A) A group of firms following the same strategy in a market is called a ‘strategic-

group’.
(B) The members of strategic group are the key competitors.
(C) The type of competition among them is known as generic competition.

(DY) The height of entry barriers differ for each group.

38. In India Proctor & Gamble (P & G) (Home products division) is following the strategy of
(A) Cost leadership
(B) Differentiation
(C) Broad differentiation

(D) Focussed differentiation

39. Today, mobile phones have many features such as camera, GPS, Internet, music and video

recording. This is an example of
(A) Convertibility of Industries
(B) Combination of Industries

(C) Competition among Industries

(D) Convergence of Industries

40. An organisation that is downsizing to reduce cost is implementing a strategy of
(A) Growth
(B) Focus
(C) Renewal
(D) Stability
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36.

37.

38.

39.

40.

FHHAT H STSTR-SE AN FEsH fohg WX T IR foRar ST =1feu 2
(A) HRIRE TR

(B) TEAF TN

(C) Tauom fovmT &t &)

(D) VS Fawaeh o TR

frfafad Femi & @ SF a1 T 7@ & 2

(A) SNIR § U & FERe Aid 1 S B arcl W % THe B HHERE (L) T
FRE |

(B) WM T9E % TS JF Wqant € |

(C) SToh ot Ufereel o & & STl (S-1eh) Wil & | 9 ST STl € 1

(D) TS G o foT yeer STariel st Samg =T 2t € |

IRA W, TiFex W0 Teafet (I WU ST (219 Wesed feaiom) i Tt etk =i &1 qrer o Tl € 2
(A) T e

(B) T

(C) =T favsiesor

(D) TR forssiemoT

ToheenT SETER0T & 2

(A) SEI & aREdHEar
(B) SE 1 WASH

(C) e o o et
(D) SN bt BRI

Teh G e AN 52 % [T W% &l 7 HT €, d o {8 G =ifa ot franfea s g 2
(A) wgig

(B) ST (IR

(C)  TelrepRoT

(D) Terar



41.

42.

43.

44.

45.

46.

Who propounded entrepreneurship as a theory of business ?
{(A) Daniel Goleman

(B) Joseph A. Schumpeter

(C) Thomas A. Coleman

(D) Warren Buffet

Who among the following is not the first generation entrepreneur ?
(A) Dhirubhai Ambani

(B) Shiv Nadar

(C) K. Anji Reddy

(D) G.D.Birla

Which of the following is not a possible route to market entry for a small business
owner/entrepreneur ?

(A) Franchise

(B) Corporate Venture
(C) Outright Purchase
(DY) Buy-out

The number of items which can be exclusively manufactured in the small scale sector are
(A) 20items
(B) 35 items
(C) 50items
(D) 62 items

Which of the following is an external reason for the sickness of a small business ?
(A) Choice of an idea

(B) Inadequate finance

(C) Volatile business environment

(D) Lack of vertical and horizontal integration

In view of competitive global economy, corporations are involved in cost cutting,
corporate restructuring, mergers and acquisitions and downsizing. All these activities can
be carried out successfully only if there is proper

(A) Business Ethics
(B) Ethical Audit
(C) Corporate Social Responsibility

(DY) Corporate Governance
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41.

42.

43.

44.

45.

46.

frfateaa 3 9 T =gaaE & fagr & &9 ° SAfdar &1 ique fear & 2
(A) I Tews

(B) W T, ywdiex

(C) oWE U, HioraT

(D) ana s

frfefaa & @ 2 wem-digr 1 St T8 € 2
(A) eRETE ST

(B) f¥maArex

(C) . T e

(D) S e

fepdt o7 e THy/SEe % feIT SISTR & Yaer bt i 1 OnT e @l E 2
(A) TR

Toher ScaTg U & ST Sharet ot S o &1 | fafafia forsr s geed € 2
(A) 20 3@
(B) 353
(C) 50 3
(D) 62 3T

T IR Tl VI & TIT DA 9T ST HROT E 2
(A) faar & ==

(B) ymard fo=

(C) UREdRIe SHaE/™ aTdreRoT

(D) SRATHR T &fST TehiehRoT I ST

g Tcneh Af¥ash STIIawT S SEd §U, HURYHT AR FH &, HURS T, faaam 3R
HTERIEUT TR SMHR BIeT A § N & | 37 Tl TTAiarear i 1t it Tohetargaeh fshaf-ad foham
bl & ST o ot F=T @

(A) EdTEsE Aifd ER

(B) e oiar udren

(C) RS FrTSTh FTEIRHT

(D) N IE=



47. Statement (A) : Law and moral standards overlap to a certain extent.
Statement (B) : Law represents a minimum set of standards for regulating human
behaviour in society.

(A) (A) and (B) both are incorrect.

(B) (A)is correct but (B) is not the right explanation of (A).
(C) (A)is correct and (B) is the right explanation of (A).

(D) (A)isincorrect and (B) is a correct statement in isolation.

48. In order to check the growing unethical practices in the field of information technology,
the first cyber law passed in India is
(A) Information Technology Act
(B) Anti-hacking Law
(C) Cyber Law
(D) E-commerce Law

49. Match the items of two lists, indicating the correct code :
List -1 List - 11

a.  Transparency i All stakeholder groups have the
opportunity to maintain or improve
their well being.

b.  Equity ii.  The State of being answerable for
decisions and activities to all
stakeholders.

c.  Sustainability iii. Information freely available and
directly accessible to interested
parties.

d.  Accountability iv. = The effect which action taken in the
present has upon the options
available in the future.

Codes :

a b C d

(A)  iii i iv ii

B) i i i v
(C) i i i v
O i i i v

50. Which of the following is not a principle of CSR ?
(A) Protecting Environment
(B) Avoiding price discrimination
(C) Promotional activities
(D) Adopting the labour policies
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47. AR (A) : FA AT (TR AHE FS 6% qh Uh-gaL hl ST i & |
AIWHAT (B) : T S § AFG HTER il [AAHd A o6 (o AT ol AT TG The Xl
T

(A) (A) 3 (B) I T & |

(B) (A) &l €, W (B), (A) ! el =T el & |
(C) (A) W& & 3R (B), (A) H el AN |
(D) (A) TToid € 3R (B) 7o W & FEE |

48, T AT o & T STk WS B Aok o foTT R | ST T T Qesk B €
(A) o SEifTeR tfeem

(B) USRI

(C) WRT

(D) 3oy T

49. < afit ) i 9 e e o ) e A
-1 -1

a.  URERT i, ol ooTER SRl I STUAT AN ST T AT GERA
H TG A |

b. T () i, W UUTERE s Mo qen fatatE & o stareea
e i feafa

c. HRUEr iii. TR Rl H g Ty w7 9 Iuere X 9
= |

d.  SerEREdr iv. IOEME B B TS HNATS P AT F 39 fashedi W
™ |

a b C d
(A) i i iv i
(B) i i i v
(C) i di i v
(D) i i i v
50. UGN % fagr 9 Fefaiad 9 9 B 91 98l @l e 0
(A) TSRO St GRET AT
(B) hmd fawig BT e
(C) TR iatarea
(D) =\ Tl =l I
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